
ABC ∆ABC

∆ ABC AB,	BC,	CA, ∠A,

∠B, ∠C A,	B,	C

ATM



7.3(i)

7.3	(ii) (iii) 7.3	(i)

7.3	(iv) 7.3	(i)

7.4	(i) ∆ABC



(ii) (v) ∆ABC
(ii),	(iii) (iv) ∆ABC

7.4	(v) ∆ TSU, ∆ ABC

∆PQR, ∆ABC ∆PQR ≅ ∆ABC

∆PQR ≅ ∆ABC ∆PQR ∆ABC

PQ AB,	QR BC CA RP ∠P ∠A, ∠Q ∠B

∠R ∠C P A,	Q

B,	R C

P ↔ A,	Q ↔ B,	R ↔ C

∆PQR ≅ ∆ABC ∆QRP ≅ ∆ABC

7.4	(iii)

FD ↔ AB,	DE ↔ BC,	EF ↔ CA

F ↔ A,	D ↔ B, E ↔ C

∆FDE ≅ ∆ABC. ∆DEF ≅ ∆ABC



∆ABC iv

cm

cm °



BC	=	QR, ∠B	=∠Q AB	=	PQ ∆ABC ∆PQR

∆ABC ∆PQR

OA	=	OB OD	=	OC.

(i)	∆AOD	≅	∆BOC (ii)	AD	||	BC

(i)	∆AOD ∆BOC

∠AOD ∠BOC

∠AOD = ∠BOC



∆AOD ≅ ∆BOC

ii ∆AOD ∆BOC

∠OAD = ∠OBC AD BC

AD	||	BC

AB l P l

P A B

l AB AB

PA	=	PB ∆	PCA ∆	PCB

AC	=	BC C AB

∠PCA = ∠PCB	=	90o

PC	=	PC

∆PCA ≅ ∆PCB

PA	=	PB

cm cm 50°

50°



º º 4cm



∆ ABC ∆ DEF

∠ B	=∠ E, ∠C	=∠ F

BC	=	EF

∆ ABC ≅ ∆ DEF

AB	=	DE

AB	=	DE

∠ B	= ∠ E

BC	=	EF

∆ ABC ≅ ∆ DEF

ii AB > DE PB	=	DE AB 'P'

∆ PBC ∆ DEF



∆ PBC ∆ DEF

PB	=	DE

∠ B	= ∠ E

BC	=	EF

∆ PBC ≅ ∆ DEF

∠ PCB	= ∠ DFE

∠ ACB	= ∠ DFE

∠ ACB	= ∠ PCB

P A

BA	=	ED

∆ ABC ≅ ∆ DEF

iii AB < DE ME	=	AB DE M ii

AB	=	DE ∆ABC ≅ ∆DEF

180o

180°



º, º º

AB CD AD O

i ∆ AOB ≅ ∆ DOC ii BC 'O'

i ∆ AOB ∆ DOC

∠ ABO	= ∠ DCO ( AB	||	CD BC

∠ AOB	= ∠ DOC

OA	=	OD

∆ AOB ≅ ∆ DOC

ii OB	=	OC



BC 'O'

ABCD AC	=	AD AB ∠A ∆ABC
≅ ∆ABD BC BD

ABCD AD	=	BC ∠DBA=∠CBA

∆ ABD ≅ ∆ BAC

BD	=	AC

∠ABD	= ∠BAC



AD BC AB CD AB

m

p q ∆ABC ≅ ∆CDA

∠A B BP BQ

B ∠A

i ∆ APB ≅ ∆ AQB

ii BP	=	BQ B ∠A



AC	=	AE AB	=	AD

∠BAD	= ∠EAC BC	=	DE

AB P ∠BAD	= ∠ABE

∠EPA	= ∠DPB D E AB

i ∆DAP ≅ ∆EBP

ii AD	=	BE

(8)	ABC ∠C AB M C M

DM	=	CM D D B

i ∆AMC ≅ ∆BMD



ii ∠DBC

iii ∆DBC ≅ ∆ACB

iv CM	= AB

cm cm

∆ABC AB	=	AC

∠B ∠C



ABC

AB	=	AC

∠B	= ∠C

∠A BC D

∆BAD ∆CAD

AB	=	AC

∠BAD	= ∠CAD

AD	=	AD

∆BAD ≅ ∆CAD

∠ABD	= ∠CAD

∠B	= ∠C



BC ∠B	= ∠C	=	50o ABC ∠A

BC D

∆ ABC C B

AD

AC AB AC AB

AC	=	AB

∆ABC AD ∠A BC

∆ABC
AB	=	AC

∆ ABD ∆ ACD



∠BAD	= ∠CAD

AD	=	AD

∠ADB	= ∠ADC	=	90o

∆ABD ≅ ∆ACD

AB	=	AC

∆ABC

∆ABC AB AC E F

BF	=	CE

∆ ABF ∆ ACE

AB	=	AC

∠A	= ∠A

AF	=	AE

∆ABF ≅ ∆ACE

BF	=	CE

ABC AB	=	AC.	BC BE	=	CD D E

AD	=	AE



¥ÀjºÁgÀ	: ∆ ABD ∆ ACE

AB	=	AC

∠B	= ∠C

BE	=	CD

BE	–	DE	=	CD	–	DE

BD	=	CE

∆ABD ≅ ∆ACE

AD	=	AE

ABC AB	=	AC. ∠B ∠C O'

A O

(i) OB	=	OC

(ii) ∠A AO

∆ABC BC AD AB	=	AC ∆ABC



ABC AC AB BE CF

ABC AC AB BE BF

(i) ∆ABE ≅ ∆ACF

(ii) AB	=	AC ∆ABC

ABC DBC BC

∠ABD	=∠ACD



∆ ABC AB	=	AC AD	=	AB BA D

∠BCD

ABC ∠A	=	90o AB	=	AC. ∠B ∠C

60o

cm cm cm



cm cm



AB AB P Q A

B PQ AB

PA	=	PB QA	=	QB

PQ ⊥ AB PQ AB

PQ AB C

∆ PAQ ∆ PBQ

AP	=	BP

AQ	=	BQ

PQ	=	PQ

∆ PAQ ≅ ∆ PBQ

∠APQ	=∠BPQ



∆ PAC ∆ PBC

AP	=	BP

∠APC	= ∠BPC ∠APQ	= ∠BPQ

PC	=	PC

∆ PAC ≅ ∆ PBC

AC	=	BC

∠ACP	= ∠BCP

∠ACP	+ ∠BCP	=	180o

∠ACP	=	180o

∠ACP	=	90o

AB PQ

AP	=	BP

PC	=	PC

∠PAC	= ∠PBC ∆APB

∆PAQ ∆PBQ ∆PAC ≅ ∆PBC

P A

AP

A



PB ⊥ , PC ⊥

PB	=	PC

∠PAB	= ∠PAC

∆ PAB ∆ PAC

PB	=	PC

∠PBA	= ∠PCA	=	90o

PA	=	PA

∆ PAB ≅ ∆ PAC

∠PAB	= ∠PAC

BC ∆ ABC

∆ DBC A D BC

AD BC P

(i) ∆ABD ≅ ∆ACD



(ii) ∆ABP ≅ ∆ACP

(iii) ∠A ∠D AP

(iv)	BC AP

AB=AC AD

i) BC AD

(ii) ∠A AD

∆ ABC AB BC AM ∆ PQR PQ

QR PN

(i) ∆ ABM ≅ ∆ PQN

(ii) ∆ ABC ≅ ∆ PQR

BE CF ∆ABC ABC

ABC AB	=	AC, ∠B	= ∠C AP ⊥ BC

i) AB CD AB

ii) ∠B ∠A



B C

BC C

A ∆ABC CA

A A'

A'C	>	AC

A' B A'BC ∠A'BC ∠ABC

∠A'BC	>∠ABC

CA BC

AC A

∠B



∆ABC BC AC

∠A ∠B

CA	=	CP BC P'

AB A

P,	Q,	R,	S,	T

A B P T ∠A

∠TAB>∠SAB> ∠RAB	>∠QAB	>∠PAB TB	>	SB	>	RB	>	QB	>	PB.



∠B AC

ABC AB	+	BC,	BC	+	AC AC	+	AB

AB	+	BC	>	AC BC	+	AC	>	AB AC	+	AB	>	BC

∆ABC BA AD=AC D ∠BCD	>∠BDC



BA	+	AC	>	BC

∆ ABC AD	=	AC BC D AB

>	AD

∆ DAC

AD	=	AC

∠ADC	= ∠ACD

∆ ABD ∠ADC

∠ADC	> ∠ABD

∠ACD	> ∠ABD

∠ACB	> ∠ABC

AB	>	AC ∆ ABC

AB	>	AD	(AD	=	AC)



∆ ABC AB AC P Q

∠PBC	< ∠QCB .	AC	>	AB

∠B	< ∠A ∠C	< ∠D AD	<	BC

ABCD AB CD

∠A	> ∠C ∠B	>∠D

PR	>	PQ ∠QPR PS ∠PSR	> ∠PSQ



ABC ∆ABC

A

B

C

A,	B C



i) ii)

cm

A ↔ P,	B ↔ Q C ↔ R ABC PQR

∆ ABC ≅ ∆ PQR

60






